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1. TBelore allempling (he question paper, kindly cheek vour Question Booklel((I3) and O.M.R, Answer Sheel and ensure that:

- Seriul number of Question Booklel(QB) and OMR Answer Sheel is same,

- Al pages and all questions are properly prinled

In case ol any diserepancy/delect, the candidate should immediately report the mailer (o the Invigilalor Tor replacement of Question

Booklet(()13) and OMR Answer Sheel. No claimiobjection in this regard will be enterlained afler [ve minues of starl of examination,

candidate will be liable lor the same.

Read all instructions on (he reverse o[ OMR Answer Sheel,

On OMR Angwer Sheel, use blue ball point pen only, Please, G11 your Roll No, and other inlormation correctly in OMR Angwer Sheel,

Ifmore than one response is marked Tor a question, il would be realed as wrong answer,

1/3 part of the mark(s) of each question will be deducied [or each wrong angwer. (A wrong answer means an incorrecl answer or more

than one answers for any question).

6. liach question has five oplionsfcircles, IFirst Tour oplions/circles (A), (B), (C) and (D) are relaled to appropriale answer and fi(ih
option/cirele (E) is related to ‘Question not attcmpted”.

7. To indicatc the correct answer, the candidate has to fill in only one optionsciccle (A), (B), (C} or (D) with bluc ball point pen for
ruspwti\ ¢ question numbcer on the OMR Answer Sheet. I the candidate does not want to answer any question then the fifth option/
cirele *(E)’ should be darkened.

8. 173 part of the marks will be deducted for the questions, if nonc of the option/cirele arc darkened.

9. Tf a candidate leaves mote than 10 perecnt questions or does not darken any of the five options, he/she will be disqualitied for the
cxan.

10. Candidate will be given 10 minutes extra to make sure, if ie/she has filled up any onc option/eirele for cach questions.

11, If there s any sort of ambiguity ¢ mistake cither of printing or factual in natre in Hindi or English version of questions, then the
English Version will be treated as final.

12. Tlse of Mobile Phonc ¢/ Bluctooth Device or any other clectronic gadget in the examination hall is strictly proliibited. Tt any such
prohibited material is found with any candidate, strict action will be taken against himsher as per rules.
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YWarning : [f a candidate is found copyving or using unfair means or it any unanthorized material is found in histher possession, FIIR will
be lodged against hinvher in the Policc Station and hefshe would be liable to be prosceuted under State Public Examination {Measures for
Preventions of Unfair Mcans in Recruitment) Act. 2022 and Amendiment Act 2023, The act has provisions of imprisonment of
19 years to life and fine up to T 10 crore. Board may also debar himdher permancntly from all future cxaminations conducted by the Board.
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The relavion between the Tocal length (/) and radius of

curvature (R) of a concave mirror 18

(A} f=2R ®B) =

© f=R
(F) Question nol allempled

)y 7=

Which of the following states won the 15t Hockey India
Senior Men National Championship 20257

{A) Tunjah

{C) Uttar Pradesh

{E} Question not attempted

(B) Haryana
(D) Rajasthan

Who was the clhiet guest tor India’s 76" Republic Day
celebrations in 20257

(B) Prabowo Subianto

(D) Joko Widodo

{A) Emmanucl Macron
(€Y Abdel Fattah Hl-Sisi
(L) Qucstion not attcmpted

Name Lhe spacecrall used Tor launching astronauts, inclusing
Shubhanshu Shukla, into spacc {in June 2025) tor conducting
biological research al the Intermational Space Station?
{Choosc the most appropriate option from below)

(A} Apollo 11 (B Vosiok |

{C) Axiom 4 (D) Spacchball 1

(F)  Question nol allempled

Which indigenous nussile system demonstrated stellar
performance in Operation “SINDOOR™?

{A) Prithwvi (B) Akash

(Cy Agni (D) BrahMos

{E} Question not attempted

In which Indian state was the “Shirui Lily Festival-2025"
celebrated?

{A) Nagaland

() Manipur

(L) Qucstion not attcmpted

{B) Assam
(D) Meghalaya

According to India Skills Report-2025, whal is the position
ot Rajasthan in terms of providing employinent resourecs to

bk

Which of the following wotlands of Rajusthan has been

women’?

{A) First {B) Sccond
(Cy Third (D) Fourth
{E} Question not attempted

declared as a Ramsar site in June 20257

{A) Devikund, Bikaner (B) Didwana, Nagaur

{C)y Menar, TTdaipur (D) Bada Talab, Ajmer

(L) Question not attempted

Which Take in Rujusthan has been renamed as Varun Sagar
lake?

(A} Nakki lake

{C} Foy Sagar lake

(E)  Question nol allernpled

(B) Samand lake
(D) Kaylana lake
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In which city of Rajasthan, “Rashtriva Sahakar Masala
Mcla-2025" was held?
fA)Y Alwar

{C) Bhilwara

{E) Qucstion not attcmpted

(B) Jaipw
(D) Jaisalmer

Which of the following regions is associated with South-
Eastern Plains (Hadoti Plateau) of Rajasthan? {Choose the
most appropriate option trom below)

fA) Baran (B) Sirohi

{C}y Ajmer (D) Alwar

{E) Qucstion not attcmpted

Which of the following componcnts is found in high
percentage i the descrt soil of Rajasthan? (Choosc the most
appropriatc option from below)

{A) Orpanic matter (B) Calcium carbonatc

{C} Potassium (D) Magnesium

{E) Quecstion not attcmpted

Which district of Rajasthan liad the highest percentage of
rural population (with respect to its urban population) as per
the Census of India (2011)?
{A)y Dungarpur

{C) Pali

{E) Question not attempted
Which of the following is the term used for hiot, dry and
dusty winds that blow during the swnmer i Rajasthan?
{Clhioosc the most appropriate option from below)

fA)} Mavath {B) Katabatic s

{C} Loo (D) Monsoon tﬂ

{E) Qucstion not attcmpted

Kcoladco Ghana National Park is located in which of the
following repions?

{A)y Kota

{C} Bharatpur
{E) Qucstion not attcmpted

(B) Jhalawar
(D) Jaisalmer

(B) Sawai Madhopur
(D) Baran

Which of the following regions is not associated with the
Todparh Raoli Wildlite Sanctuary in Rajasthan?

fA) Rajsamand (B) Ajmer

{C}y Pall (D) Jhuyhunu

{E) Qucstion not attcmpted

Which of the following is the largest artificial lake of
Rajasthan?

{A) Lunkaransar

{C} Jaisamand

{E) Qucstion not attcmpted

{(B) Sarmbhar
(D) Pachpadra

Which of the tollowing Articles of the Constitution of India
cnsurcs cquality before the law and cqual protection of the
laws within the territory of India?

{A) Article 17 (B) Articlc 52

{C) Article 14 (D) Article 32

{E) Qucstion not attcmpted

Who has the authority to determine, by law, the salarics and
allowanccs ot state ministers i India?

{A) President of India

{B) Govcrnor ot the concerned state

{C} State Lepislature

{D} Parlinment

{E) Qucstion not attcmpted
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The lower courts in the districts of states in India function
under the direct superintendence of the .

fA) Parliament (B) High Court

(C)} President of India (D) Supreme Courl

{E) Qucstion not attcmpted

Among the following who was the first Chiet Justice of the
Rajusthan High Court?

{A) Tustice Naval Kishore

(B} Justice K.L. Bapna

{C) Tustice Amer Singh

(D) Justice Kamala Kant Verma

{E} Question not attempted

Who is the Cabinet Minister of the Department of Home
CGuards under the Rajasthan Government (as of June 2025)?
{A) Bubu Lal Kharadi (B) Surcsh Singh Rawat

{C)  Awvinash Gehlot (D) Kirodi Lal

(L) Question not attecmpted

The Speaker of a state legislative assembly submits his/her
resignation to the

{A) Governor

{B) Chiet Minister

{Cy Deputy Speaker of that legislative assembly

{D) Chief Justice of the State High Court

() Question not attecmpted

Who amonyg the following was the important ruler who was
crediled with re-estublishment ol the Guhil Dynasty in
Chitter?

{A) Rana Hamunir

(C) Ratan Singh

(F)  Question nol atempled

(B) Jaitra Singh
(D) Maharana Lakha

In 1857, the soldicrs in Nasirabad Cantonment rosc in revolt
on which ol the following dates?

(A) 28 May (B) 284 April

(C) 28M March (D} 28t February

(L) Question not attempted

Who led the First Cabinet of Greater Rajastlian formed on
March 30, 19497

{A) Gokul Lal Asawa

{C) Bhupal Singh

(L) Question not attempted

(B) Manikya Lal Verma
(D) Hiralal Shastri

The famous personality from Rajasthan who wrote “‘Leeltans
{Poctry)” 1s:

(A} Vijaydan Detha E‘E

(B} Bavji Chalur Singhji

{C) Gaurishankar Hirachand (yha

(D) Kanhaiyalal Scthia

(LY Question not attempted

Which of the Tollowing is a lamous lierary work of
Suryamal Mishran?
{A) Vansh Bhaskar
{Cy Amolak Batan
(F)  Question not allempled

(B) Trithvira) Rao
(D) DBatan Ri Phulwari

Name the author of the Rajasthanl novel “Dhoran Ro
Dhori™.

(A} Lakshmi Kumari Chundawat

{B) Yadvendra Sharma

{C}y Shrilal Natlunal Joshi

(D) Ruameshwar Dayal Srimali

(E)  Question nol alternpled
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On a certain sum, it the compound interest carned during the
sccond vear at the rate of 7% per annum is T 15,729, then
the sum is:

(A) T2,08215

(Cy ¥2,10,000

{E) Qucstion not attcmpted

(B) T2,09,2%0
(D) T2,12355

Vinay invested a total of T 25.000. partly on simple interest
and the remaining on compound interest. If the rate of
interest is 10% per annum and he earmmed a total of T 5,150
as interest at the end of 2 years, then find the sum mvested
on compound interest.

(A) T12.500

() T15.000

(E) Question not attempted
ITAB=23BC=25and A:D=1[:2, then C:Dis:
(A 815 (B) 153

(Cy Ll (D) 15:2

(LY Question not attempted

(B) T 13,800
(1) T 16,000

Kavita is 40 ycars old and Shailja is 48 years old. Aficr how
many years will the ratio of their ages be 677

(A) 6 (B) 8

{(Cy 9 (D) 10

(E} Qucstion not attcmpted

P, Q and R entered into a partnership by making equal
ivestments. After 3 mooths. T withdrew 20 % of his
vestment and (@ made an additional investment of 50 % of
lis inital investment. Find the ratio in their shares of profit
at the end of the year.

{A) 81512

{C) 23:25:14

{E} Question not attempted

(B)
(D)

X and Y can do a work in & days and 8 days respeciively.
With the help ol 7, they can complete the work in 3 days. In

bk

Pipes P, Q and R can fill & tank n 28 minutes, 35 minutes
and 42 minutes respectively. All these pipes were opened at
the same time. By niistake a drainage pipe was also opened
alongwith pipes P, Q and R. If the tank got filled n 12
minutes, then in how many niinutes the drainage pipe can
cmpty the completely filled tank?

(A) 220 (B) 210

(Cy 200 (D) 190

(L) Question not attempted

how many days can 7 alone do the work?
(A) 14 (B) 20

(C) 18 (n) 24

(E)  Question nol allempled

A person travelling at a speed of 45 knvh reaches his
destination om time, On a particular day he could cover only
halt of his journcy in T time. What should be his speed
(in km/h) for the remaining journey so that he reaches his
destination on time?

(A) 30

(Cy 352

(LY Question not attempted

(B) 36
(D) 60
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ferrere =1 o v e
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38 The bar praph presents the number of wrist watches

manutactured by 5 companics J, K, L, M and N in the year
2024,

D o
SOEY 4
B o
FOOS -
GOt
D -
A0 4
AT A
AL 3
LC

sohes manufaciurad

0

Viriat we

Companias
Find the ratio of mumber of wrist watches manufactured by
companies T and N taken together to those manufactured by
companies K. L and M taken together.
(A) 3056069 (B) 506 : 669
(C) 306671 (D) 507:671
(E) Question not attemped
The life history of saints available in poctry form in
Rajasthani language is known as:
(A) Parchi (B) Raso
(C) Rupak (D) Prakas
(LY  Question not attempted

What is the main character called in the story “Kahan® told
in Kanhaiya Khayal?

{A)y Mediva

{C} Hirachand

{E) Quecstion not attempted

{B) Jogi-Jogan
(D) Duliva

‘What s the traditional headgear of Mewar called?
{A) Kanchh {(B) Kullha

(Cy Topi (D) Safa! Pagdi
(E) Question not attempted

Which of the following insuwuments widely used in
Rajasthani music is a *Sushir Vadya™?

(A) Kamayacha (B) Dhol

(Cy Pungi (D) Morchang

(LY Question not attempted

Which of" the following folk deitics of Rajasthan is
worshipped by Muslims as “Ramshah-Pir™?

fA) Mallinathji (B) Gopaji

fC) Ramdcvil (D) Devnaravanp

{E) Quecstion not attempted

Tn which of the following regions of Rajasthan 1s the “Kajli
Teej Festival” uniquely celebrated with grandeur? {Choose
the most appropriate option from below)

(A) Alwar (B) Udaipur

(Cy Bundi {10 Thalawar

(E} Question not attempted

In Rajasthan Usta Art is a prominent part of the cultural
heritage of which of the following citics?

{A) Udaipur (B) Jaisalmer E-E
(Cy Bikaner (D) Juipur

(LY Question not attempted
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(A) a-ILb-ILc-1v,d-I

(B) a-1Lb-1¢-1V,d-1l

(Cy a-Lb-I1Lc-Iv, d-T1

D) a-MLb-T,c-T.d-TV

(L) A7aRa 9
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(A) TATER (B) SR
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Who among the following is the current Cabinet Minister
for Social Justice and Empowerment in the Rajasthan State
Governmeni (a5 on June 2025)?

(A) Joraram Kumawat (B) Kanhaiva Lal

{C) Avinash Gehlot (D) Madan Dilawar

{E} Question not attempted

Which of the following bodies serves as the final appellate
authority Tor matters related o the RTI Act (2005) in
Rajusthan?

fA) Organization for Information, Rajasthan

{B) Rajasthan State Tnformation Comnussion

(C) Rajasthan State R'T'T Board

(D) Rujasthan State Council of Information

{E) Qucstion not attcmpted

Which of the following metals is stored Wi Kerosene Oil?
{A) Platinum (B) Gold

(Cy Copper (D) Sodium

(L) Question not attempted

The enzymes pepsin and trypsin are scereted respectively
by:

{A) Stomach and salivary glands

(B} Slomach and pancreas

{Cy Liver and pancreas

{D} Liver and stomach

{E} Question not attempted

How many pairs of chromosomes are present in diploid
humian cells?
Ay 28 (B) 40
(Cy 23 (D) 48
{E} Question not attempted
Match list T with listIT:
List [ {(Human Disease) List IT {Causes)
a.  Tuberculosis [. Tungi
b.  Mcasles II. Bactcria
c. Malaria I, Virus
d. Ringworm IV, Prolozoa
Choose the correct answer from the options given below:
(A a-ILb-MI,c-IV,d-1
{B) a-T. b-Tc-TV, d-TIT
(Cy a-Lb- c-1¥V d-1TI
(Dy a-Illb-Le-Id-IV
{E) Qucstion not attcmpted
What is the name of the main entrance gate of Nahargarh
Fort?
(AY TMawa Gale
{Cy Suraj Pol
{E} Question not attempted

(R) Tadi Gale
(D) Lion Gatc

Who among the tollowing built the Gagron Fort in
Rajasthan?

(A} Rang Kumbha

(B} Bijaldev Singh

{C) Zalim Singh Thala E'E

(1) Maharaja Sawai Jai Singh

(F)y Question not auempled

The devotiomal songs sung by the devotees ol Kaila Devi in
the Karauli region of Rajasthan are called:

{A) Humseedo {(BY Languriya

(Cy Lalar (1) Tranihari

(F)  Question not allempled
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(C) F7afawe

Choosc thc most appropriatc option to convert the

(By @l

(B) AT BT
(1) I e =

(3) T
(D) IWET

following scntence from Active to Passive Voice:
[Te was passing the ball.

{A) The ball is being passed by him.

(B} The ball was passed by him.

{C) The ball had been passed by him,

(TH The ball was being passed by him.

(F) Sr{dita 94

Choose the most appropriate option to convert the
following sentence from Direct to Indirect Speech:

She said to me, “He has submitted the report.”

(A) She said that he has submitted the report.

(B} Hc said that he had submitted the report.

(C) Shetold me that he had submitted the report.

(D) She conlirmed that his reporl was submitied.

(E) F7afa we

ACIE [
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The “Valar Dance’ is a famous dance of which of the
following tribes ot the Sirohi region in Rajasthan?

(A) Bhil (B)y Dholi

{Cy Guarasiya (D) Kumad

{E) Qucstion not attcmpted

‘Which of the following is a folk theatre of Dausa, Lalsot and
Sawai Madhopur regions?
{A) Taipuri Klyal

{C) Hela Khyal

(E) Question not attempted

(B) Kuchamani Khyal
(D) Turra Kalangi Khyal

Which of the following folk dramas originated in Jaipur
during the reign of Maharaja Pratap Singh?

{A) Rammat (B) Gawvn

(C) Tamasha (13) Chaar Baint

(LY Question not attempted

Which onc of the following famous Havelis is located in
Jaisalmer?

{A) Rampuria INaveli

{Cy Patwon Ki Haveli

{E) Quecstion not attcmpted

(B) Bagore Ki [laveli
(D) DBhamashah Ki Haveli

Who among the following was the Chaitman of the
Constiluent ~ Assembly  of  India? (Choose the most
apprapriate option from below)

{A) Dr. Rajendra Prasad

(B) Ganesh Vasudev Mavalankar

(Cy Dr. B.R, Ambedkar

{D)y Pt Jawaharlal Nchru

{E} Quecstion not attempted

Which of the Tollowing stalemnents is correct abow the
Governor of & State in India? {Choose the most appropriate
option from below)

{A) The Governor of a State is elected by the state
legislative members.

(B} The Governor shall not be a member of cither House
of Parlinment or of a Housc of the Legislature of any
State.

(C) The Governor shall hold ofTice (or a term ol six years.

(D) Any citizen of India who has completed 30 years of
age is clipible for appointment as a Governor.

{E} Question not attempted

Choosc the most appropriaic option to convert the
following scntence from Active to Passive Voice:

He was passing the ball.

{A)Y The ball is being passed by hin.

{B) Thc ball was passcd by him. [T

{C) The ball had been passced by him. EE

{D} Thc ball was being passcd by him.

(F)  Question nol allempled

Choose the most appropriale oplion lo converl the
Tollowing sentence from Direct to Indirect Speech:

She said o me, “Ile has submitled the report.”

(A} She said that he has submitled the report.

(B) Ile said thal he had submitted the report.

(Cy She lold me thal he had submitted the report.

(D) She conflirmed that his report was submitted.

(L) Cucstion not attempted
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Senlence:

Lokesh has more wealth than comnmion scnsc.
{A) Lokesh does not have as much common sense as he
has wealth.

(B) Lokesh docs not have wealth and comnion scnsc.

{(C) T.okesh neither has wealth but has common sense.
(D) Lokesh is more wealthy than smait. |l.|.'|=

(F) Haha ug

Convert the following Interrogative Sentcnec 10 an
Assertive Sentence:

Who does not like 1o be pampered?

(A)
(B) Fwvervbody likes to be pampered.

Oh to be pampered by everybody!

{C) Do you like 1o be pampered?
(DY Lverybody shall be pampered.
(F) #3and 94

Convert  the following  Asscrtive  Sentence to  an
FExclamatory Sentence:

T is sad thal we have lost the match oday.

{A) Bravo! We have lost the match today.

{B) Hurrah! We have lost the maich today.

(C) Alas! We have lost the match today.

(I What a sad match today!

(E) 7R we

Choose the most appropriate option to correct the
Tollowing sentence:

o sooner [ saw the bear than [ ran away.

{A) Nosooner I had seen

(B No sooner had [ seen

{C) Assoonas | saw

(TY) No correction needad

(E) S¥7Hia o

Fill in the blank with the most appropriate word:

It took Anand seven years to this task.

{B) aceomplish

{A) accomplicc
(C) accompany (D) accompanics

(E) 3rfaia a4

“Fepe- el Aiense Tetiehar o1 &= 3q=i &7 (e | @
T IR T )

(A) T =T AT BHeT 5= e 2

(B) TFET SIoT B8 oAl STAHIT &4 9siiahd 1 Tehdl 6|
(C) Toram fefeeai it St W TR vy a9 &

(D) TR e 371 @E wtiE o €

(E) SAE 9

foeafeafias 9 & - simfon foen @i 22

(A) TS 11 (B) e g

(C) TEte BT () F7

(F) ¥R o
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63 Convert the following Assertive Sentence to a Negative

63

G 9

Convert the following Assertive Sentence to a Negative

o

Sentence:

T.okesh has more wealth than common sense.
(A) Lokesh does nol have as much common sense as he
has weallh.

{13y Lokesh does not have wealth and comnion sense.
{Cy Lokesh neither has wealth but has commen scnsc.
(D)

(E) Question not attempted

Lokesh is morc wealthy than smart.

Convert the following Tnterrogative Sentence to an
Assertive Senlence:

Who does not like (o be pampered?

{A) Oh o be pampered by everybody!

{B) Livcrybody likes to be pampercd.

{C) Do you likc to be pampered?

{D} Evcrybody shall be pampered.

(E)  Question nol allempled

Convert the following Assertive Sentence 1o an
Exclamalory Senience:

Iu is sad that we have lost the match today.

{A)
{BY Hurrah! We have lost the match today.
{C) Alas! We have lost the match today.
(D)
(F) Question nol allempled

Choose the most appropriate option to correct the

Bravo! We have lost the match today.

What a sad match today!

Tollowing sentence:
No sooner I saw the bear than T ran away.
(A)

{By No sooner had | scen

No sooner 1 had seen

{C) Assoon as [ saw
(D)
(F) Question nol atlempled

No correction needed

Fill in the blank with the most appropriaie word:
this Lask.

IL ook Anand seven years Lo
(B) acconiplish

{A) accomplice
{C) accompany (D) accompanies

(E) Question not attempted

What is the use of "KISAN-GIRDAWARI Mobile
Application? (Clioosc the most appropriate option from
below)

(A} Farmers can sell their crops here.,

(B} [armers can self-register their crop information,

{C) Farmers can monitor locust movemcent.

(D)
(E)  Question nol altempled

Framers can buy seeds and fertilizers.

Which of the following is mot an operating system?

{A) Windows 11 {B) Mac OS e
(C)  Adobe Photoshop (D) Ubuntu EE

(F)  Question nol allempled



|
(A) Cul-H
(C) Cul-V
(E) oFgHia 9

TN TR OTS A SR AR e
T 8

(A) THE (B) =

(C) IS feTTee (D) WiHeTE
(E) oFgHia 9

= U, THST, STSa1 #AT(e %1 Uh GO 2, 5 U URL
F WTIET WA g 3
(A) TS
(C) s ugw
(E) oFgHia 9
U I # e e T 2 (e F | e
S foremed )
(A) IErERa T Pt (B @ g
(C) THERAT %7 AT (D} Y = SHA

(B) Cul+X
(D} Cul+Z

(B) STEIA
(D} F=ETEE

Y quier: frvrse S 9 31 i s &)

N

20
B 57

™ &

TorelT oianT o Usk e F 60 TR % oAt w6 SAiEy 43 R
il Tarenfeiet <6 3 =1 Siea 52 8 e St i -
{1 1 SR 16 2| a1 Sqol feeriefel =6 fere 47 2
(A) 33]7% (B) 15%

() 36%

(F) STgaia 9y

(D) 25%

U, THAEN A U R T 2,016 H o, Foradd 39 129 =9 g
20% ATV ATH L1 o e 3¢ =@ =1 fehert # sl =i off 2
(A) T2,177.28 (B) T 2,165

(C) T2,160 (D) ¥ 2,154

(F) aid 94

U fIshell 4 21 QU aTsek Tee T 18,000 7 si=fl| 0 a1s W
I 20% TTH FAT ATTHO T IH 10% T 351 T ToL0 T
EEC SIS U CEIIERICHE EIL A

(A) T, 10% (B) @, 2%%

©) 7, 240,
(C) 2F7afa we

0y @, 210,

ACIE [

S
aVidh

In Microsoft Word, the keyboard shorteut uscd to cut the
selected text is
(A Cul 11l
(Cy Ctrl+V

{E) Qucstion not attcmpted

(B) Curl1 X
(D) Cul+Z

In MS Exccl, pic charts and bar graphs are found under the
tab.

(A) Insert (B) [lome

{C) Pagc Layout (D) Formulas

{E) Quecstion not attcmpted

A is a collection of web pages, images, videos cte.,
which are addressed relative to a TTRL.

(A} Web browser (BY (lyperlink

(Cy IP Address (D) Website

{E) Qucstion not attcmpted

is not an csscntial part of an E-mail addrcss.
{Choose the most appropriate option from below)
(A} The Username (B} The“@" Symbol
{C) The Recipicnt’s Name (D) The Top Level Domain

{E) Question not attcmpted

Find the smallest [raction which is exactly divisible

by %,% and 24—?

1
R
20 .
9 (D)

{E) Quecstion not attempted

The avorage score of a class of 60 students in an cxamination
is 43, The average score of the students who have passed is
52 and thosc of failed students is 16. What is the percentage
of failed stidents in the class?

1 .
(A) 33 §% (B) 15%

(C) 36%
{Cy Question not attempted

D) 25%

A shopkeeper sold an item for T 2,016, thereby eaming a
profit of 12%,. For how much should he have sold it to eamn
20M profic?

(Ay T2,177.28

(Cy T2,160

(E) Question not attempted

(B) T 2,165
D) T 2,154

A dealer sold two used bikes Gor T 18,000 each. On one bike
he earned 20% profit and on the other he lost 10%. Find his
profil or loss perceniage in the whole transaction.

(A) Profil, 10% (B) Profil, 2%%

{C) Loss,
(L) Qucstion not attempted
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If cach side of a squarc is incrcascd by 20%, then the
pereentage increuse n avca of the square is:

(A) 40% (B) 42%

{C) 44% (D) 50%

{E) Qucstion not attcmpted

On simple interest, & certain sum amounts to I 13,080 in 5
years und 0 T 16,023 in & years. The vale of inlerest per

anumn is:
{A) 8% By 9%
(Cy 1% (D) 12%

(F)  Question nol atempled

forferiiaa & § -9 ITsa SATRETS S 1 STE TE 2 2
{A) ¥ {B) T

(Cy "= (D) e

(E) Question not attempted

o7 ettt rel & AT H Tofe FooT =71 3T g9 7

(A) TITETEE TR (B) FETeTee T

(C) SATFaTE fagmo (D) wfEmTETTe oo

{E} Question not attempted
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(C) FF B (D) FEA TR

{E} Question not attempted
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{E} Quecstion not attempted
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{E) Qucstion not attcmpted
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(L) Question not attcmpted

freafetfiaa & & <1<t 71ee 2-
(A) = (B) f&F
(Cy #ie (D) &1

(L) Question not attempted
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SERTIAT 201 1 3 SATET TS o Fre et ST = 700
T ST ITed 91 [oRdT AT

(A) STHT (By Mt

(C) AR (D) &

(E) ¥t 91

TAH T FHAG & e EIEEE I ERC R B 1 )
2

(A) MRS (By S FHS

(©) &l Y REENRES

(E) e 9

ACIE [

38

89

90

91

92

93

94

9%

4 § ¥ % %
fj:% .%-f\r E..-h—' id\cd
e TR TR AT HETa ol o1 2
(A) Fhg HE RIS (B) =g s 14T

(C) WO~ BT (D) T fiem T

(E)  Question nol allempled

o O At o o - Frerfirfn % e et
HAd 27

(A) LT =TS T

(B) 37T H T IS

(C) 379 3T Tafer & 5|

(12} 37 <k BT T ST

(L) Question not attempted
T AT B
(A) T+

(©) T+

(LY Question not attempted

(B) T+
(D) 9+314

I WTeE H W S0 € -
(A) ¥ (R)
(C) g D) A

(F)  Question nol atlempled

Tn which of the following regions of Rajasthan is the
“Parwan Multipurpose lrrigation Project” primarily located'?

{A) Jhalawar (B) Bikaner
b

{Cy Burmer (D) Sirohi
{E} Question not attempted
Which month during the monsoon season (June-Seplember)

in 2024 rccorded the highest percentage of long period
average (1L.LPA) rainlall in Rajasthan? (Choose the most
appropriate option from below)

{A) Seplember (B) July

{C) Junc (D) August

(F) Question nol allempled

The “Hamja Kheri Dam” i1 Rajasthan has been constructed
on which river?

{A) Shvani

(Cy Chambal

(L) Question not attcmpted

{B) DBanas
(D) Banganga

Which of the following Dams i1s nat situated in Udaipur
region of Rajasthan®?

{A) Badgaon Dam

{Cy Fatch Sagar Dam

{E} Question not attempted

(B) Bagola Dam
(D) Mashi Dam

As per Census 2011, which district of Rajusthan recorded
the sccond highest density of population?

(A) Ajmer (B) Bikuner

{C) Bharatpur (D) Bundi

(F) Question nol allempled

‘Banas’ river originates from thie place known as
near by Kumbhalgarh,

{A) Nag Pahar

(Cy Durg

(L) Question not attcmpted

{B) Veron Ka Math
(D) Shivalik



98

929

100

101

102

103

HE i3 I .
feprfcrfiae o & #1767 T TSI TSR ¥ S TSR 2,
S {3 wueestE g 31-12-2024 < Rufa f I wrg #
HIoh eaeh o Usdiohz TITRIE Yearen< fa=mor | werta e 27

3

(A) 216A T (B) 313A
(C) 702D L'ﬁ (D) 168A
(E) oFgHia 9

FRIET ATEATH T Telet a1 T T Fered w28 fofst Freafeifeaq 5 5
fore g ifeee (feramn) = feemn &0 (Foer o 1 e I
e =)

(A) E-uiEm FiER (B) IRIETFER
(C) e =iEr (D) I HER

(L) FIE@aws

I H U ST Vel ST (U <1 UH U) 1 Al il
&
(A) TSl
(C) T wEl
(E) Srfaia 74
SR U e e U Sew {oehr @ (6 21 uA)
I 1 THTOAT TR AT < e o g

(A) TS SATHSH 9w

(B) TSI T3 FEYOT 0T s

(B) hsd & Wil
(D) Ffewe afag

(C) = fam

(D) TSR 7379 Hel (719

(E) oFgHia 9

Fill in the blank with the most appropriate article:
[Le carns seventy thousand rupees yuur,
{A) a (B) the

() an (D) Not applicable
(L) FIE@aws

Fill in the blank with the most appropmate option:

Do you have food left?

(A) afew (B) any
() a (1) little
(E) Srfaia 74

Mateh List-I witl List-11:
List-I {Sentences) List-1I {Preposition)
a.  Prem was scutenced L
death by the
Judge.
b, Forlack 1L
mouncy, he could not
contue his education.

over
on

¢.  The cat juniped III. of
the fonee.

d.  The doctor deeided to
operatc
immediatcly.

Choosc the correet answer trom the options provided:

(A) a-I.b-1IV,c-1L d-1II

(By a-Ul,b-Lc-IV,d-1L

(Cy a-IV,b-1l.c-1UL,d-1

Dy a-IvV,b-1ll,c-1,d-11

(E) e 9

IV. to
his arm
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Which of the following National Highways passcs through
Rajusthan, as per the NHAIL India Road Network State/UT-
wise details of National [lighways (as on 31-12-2024)7
(A) 216A (B) 3154

(Cy 702D (D) 168A

(L) Question not attempted

The Cable Stayed Bridge across the Chambal River on Kota
bypass is a part of which of the following National
Corridors? (Choose the most approprigie option (rom below)
(A) East-West Cornidor {B)Y North-Seouth Cormidor
{C) South- East Corridor (D) East-North Corridor

(L) Question not attempted

The National Disaster Management Authority (NDMA) in
India is headed by the:

(A) President

{C) Trine Minister

(L) Qucstion not attcmpted

{(B) Union Home Minister
(D) Cabinet Secretary

Under which department was the “Climate Change and
Clecan Development Mcechanism (CDM) Cell” cstablished
in Rajusthan?

(A} Slate Planming Department

(B} Rajasthan State Pollution Control Board

{C) Forcst Department

(D} Rajasthan Renewable Energy Corporation

(Fy  Question nol allempled

Fill in the blank with the most appropriate article:

vear. E'E

(B) the
(D) Not applicable

He earns seventy thousand rupees
{A) a

{C) an

{E} Question not attempted

Fill in the blank with the most appropriale oplion:
Do you have food lei?

(A) alew (B} any

(Cy a (D) Hile

(E)  Question nol altermnpled

Match List-1 with List-1I:
List-1 (Sentences) List-11 {Preposition)
a.  Prem was sentenced L
death by the
Judge.
b. For lack 1L

money, he could not

Over

on

continuc his cducation,

¢.  The cat jumiped Ul of

the fence.
d.  The doctor decided to

operate

IV. to

his arm

immediately.

Choose the correct answer from the options provided:
fAY a-1.b-1V,c-1L,d-111

(By a-II1,b-1,c-IV,d-11

fCy a-IV,b-1,c-1L,d-1

Dy a-IV,b-1Ul,c-[d-11

() Question not attecmpted




104 Choosc the sentence with the most appropriatc use of

punctuation.

{A) 1ihink you're, wrong Jonly.
(B) DBring me, some fruit Priva.
(C) Tt is cloudy? It may rain.

() They will come, won't they?

(F) Sraia s

3 Choose the most appropriate oplion o transform the given

sentenee from Hindi wo English:

4 el H A GO Y wATE] QA |

(A) Tanya is sharper than anybody else in the class.

(B) Tanya is more punclual than oihers in the class,

(C) Tanya is never on time in her other class.

(D) Tanya is otherwise the most punctual girl in cvery
class.

(F) Sraia s

Choose the most appropriale oplion 1o lransform  lhe
following sentence from Inglish to Hindi:

She listened to miy advice attentively.

(A) 38 W HeTTE SATAgEe g |

(B) A1 Gahar § 51 Yele g4 @ o |

(C) I8 I |8 T B HepohelT fo@Ts |

(D) H{ HETE WA ¥ A TS |

(F) 3rfaia o4

What is the technical term for a document which is genuine?
(A) Domicile (FUAME)  (B) Fvacuation ([HeME)

(C) Bona-fide (T} (D) Constitution (HTET)
(E) oFgHia 9

o

frrAfeTiiae 5 § TS ol & H-91 T Hatis g | & T

(By dirEmm
(D) Frme

ferferfias B T T T FA-A1 & SfEmm | 7ot
|1 e AT 87 (e 0 4 g 39 ke =)

(A) BIITE ()

(C) (D} FEaT

(E) oFgHia 9

W T SERTUMET (2011) 3 AT, TSR 1 T80 S8ea
(TS <1 Foel SITHTEAT % U H) ST (oheT A = (e
o e U e 94)
(A) 25%

(C) 38%

(F) 3rfaia 94

"SI 3Ted B hiH-9T e BIT?

(A) dem (By fem
(C) < (D) &L
(E) i o
ferafeTiias & & s17@’ =1 yTgaTs TE 2-
(A) =9 (B)
(C) w=e (D} =elr
(E) 3rfaia 9=

(B) 40%
(D) 42%

ACIE [
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104 Choosc the scutence with the most appropriatec usc of

punctuation.

fA) Ithink you’re, wrong Jonty.
{B} Bring mec, some fruit Priva.
(C)y Itis cloudy? It may rain.

(D) They will come, won'’t they?

"
{E) Qucstion not attcmpted tﬂ

Choosc the most appropriate option to transtorni the given

scntencee from Hindi to English:

EEHIEEIE ECURESIERLRIE e

fA) Tanya is sharper than anybody clsc in the class.

{B) Tanya is niorc punctual than others in the class.

{Cy Tanya is never on time in hicr other class.

{D)} Tanya is otherwise the most punctual pirl in every
class.

{E) Qucstion not attempted

Choose the most appropriate option to transform the
following sentence from English to Hindi:

She listened to my advice attentively.

(A) SHTHL Tt ST e |

(B) S |kl & Al Ger 6 T 41

(C) I8 Ol FeATE AT H el STy |

(D) Wt eATE TreehaT H Gl TS |

{E) Qucstion not attempted

What is the techuical term for a document which is genuine?
(A} Domicile (%@  (B) Evacuation ()
(C) Bona-tide (W) (D) Constitution (¥F&ar)

{E) Quecstion not attcmpted

Which of tlic following placcs ot Rajasthian is nearcst to the
International Border?

(A) Phalodi

{C}y Tanot

{E) Qucstion not attcmpted

{(B) Pokhran
(D) Kishangarh

Which of the following regions of Rajasthan does not share
its boundary with Haryana? (Choosc tlic most appropriate
option fron below)

{A) Hanumangarh

{C}y Sikar

{E) Qucstion not attcmpted

{B) Dausa
(D) Alwar

What was the approximate percentage of urban population
ot Rajasthan (with respect to the total population of the
statc), as per the Census of India (2011)7 (Choosc the most
appropriate option from below)

{A) 25% By 40%

(Cy 38% (D) 42%

(E} Qucstion not attcmpted

T U153 § HM-HT e 7Y

(A) FaT (B) =

{Cy < (D) ==t

{E) Qucstion not attcmpted

fFreaferflaa & ¥ -s1ie 1 wEETE T -

(A) 1% (B) &1

(€y = (D) =gel

(L) Question not attcmpted




113 92191 TIe€ =1 fAe 19 2o 21

(A) ME
(Cy T
(F) 3rfaia o4

(B) T=D
(D) T

T AET AT & A % fory 3 wmes g -
(A) WIET (Ry 4

(©) Fa7 () &=

(F) ¥R o

115 fr=fafes § % 2 mee =1 79 fe

(A) =midin
(C) =i
(E) oAgHRa 9

(R) U=l
(D} THIHEE

116 Tafefiaa a4 9 312 aep1 =1 =44 iU

(A) S S S e B
(B) H W T 7™ W T

(C) AT I3

(D) 9TE 4T e o T <l A7
(F) Srfaia 94

T < 9T 9T 2" ATe e shieT & Haiferd 87
(A) HFRT aeter (B) HTHTT eTreT
(C) ST Tahret (D) oof e
(F) 3rfaia o4

118 THIT 379 AT 2 BT 19 1 @i g s forsran o & st

TR e L 5T =i T4 o) 78 o e St () 25
STId 2T

(A) ftenfres o
(C) FTEHTE T
(F) rqaia g%

W GGRT ol & Tivem foam =1 15 o Teet U 93 91
7| FSTE#RT 9 I A 21 W 78 Reminder W77 *Reminder’-
ITe% % e 3 et wes &
(A) SATeg=m

(C) A

(L) AR 99

(B) HiwR
(D} FA=IF 0=

(B) FTEHTH
(D) AT AT

Fill in the blank in the following sentence with the most
appropriate tense form:

The radio sincc 10 p.m. vyesterday. The
neighbours were gelling disturbed because of il

(B) had been playing

{D) have had played

(A) would play

(C) plays
(E) S¥7Hia o

ACIE [
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e
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e
LE

113 929’ 15 = &l 192 §iTl-

(A) 3%
(Cy Foger

{E) Qucstion not attcmpted

(B) =9
(D) ey

il Fgd ST R T o If ee F -
() 75 (B) o

©) FF (D) &=

(F)  Question not allempled

115 F=faiiad 5 4 915 91sa &1 994 110

(A) iR
(C) =T

{E} Question not attempted

(B) wiEd=
(D) wHIEE

116 Fferiiaa sl 3 & 215 =1 =67 = 11819

(A) TR 3T ERH & e ¥
(B) HT F A F @ E|
(C)} FT9H YoE|

(D) el <% 15 o A9H i< A1)
{E) Question not attcmpted

1 A 973 T&T BT AT TRl el © i @9
(A) dierg qahre (B) HIHA JaFe
(C) TG b (D) i e
(F)  Question nol allempled

TT T A9 ATE 3 ST 31T 7 BT gaTT =7 ot faam 21 s
AT JoE T BU, W1 i 9 Tt 1 o foF it (SroT) o
S BT

(A wu=TeE O

(B) ufds
(C) TR T3 (D) =TGR 9

{E} Question not attempted

A TR+ faeet & T foam =1 15 =7 veer T o v
oMl FSEaT S TR T 19 97 3= Reminder ¥ ‘Reminder'-
wreg o fore Sfea et ase 7
(A) e

(Cy T

(L) Question not attempted

(B) STTHTE
(D) AT AT

Fill in the blank in the following sentence with the most
appropriate tense form:

Theradio since 10 p.m. yesterday. The neighhours
wete getting disturbed because of it. E-E
{AY would play (B) had been playing
{C) plays (D1 have had played

(E) Question not attempted
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